
Name:…………………………………

1. Write the correct numeral

(a) 

(b) Conmplete

(i) 94762 = ( 9 X 10 000) + ……………… + …………… + …………… + ……………..

(ii) 25713 = ……………..+ 5 thousands  + …………….. + ……………. + ………………

(iii) 70 000 + 6000 + ……………. + …………….+ 3 = 76843

2 a) Arrange in ascending order

  48257 ,  42578  , 45782  , 42875  , 48752 

 …………… , …………… , …………… , …………… , ……………..

   b) Arrange in descending order

  39079  , 39097  ,  39790  ,  39970  , 39709 

 ……………. , …………… , ……………. , …………. , ……………..

3. Write in words

a) 48212 = ………………………………………………………………

b) 15018 = ………………………………………………………………

4. Write in figures

a) Fifty thousand two hundred and fourteen = ……………………

b) Nine thousand and sixty four = ………………………

5. Find the difference between the values of 5 and 9 in  54936.

Maths



6. Find the sum of the two values of 6 in 76936.

7. Work out

a) 4 7 8 9 1 b) 7 3 0 8 4

3 4 3 5 8 2 9 9 1 6

c) 5 4 3 7 3 d) 1 8 3 7 5

2 9 8 6 4 9 6 8 7

8. Work out

a) 3 7 6 b) 7 3 2 5

x 9 x 7

c) 8 2 1 6 d) 6 2 8 5 6

+ +

- -




